G@amzi‘:—w Fall 2015 Final Exam Review Packet

Unit 1: Rivind Tncmglps Simplifying /Operations with Radicals

Find the value of each variable. Write answers in simpiast ( ;
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Solve by Factoring #10-1'5' -2 2
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For #‘C"f f, solve by completing the square
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Use quadratic equation and discriminant o solve:
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Unit 2B: Graphing Quad. Functions: (Standard, Intercept, Vertex Forms), Characteristics of Graphs

Graph each quadratic function. State the requested information. i
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Unit 3: Transformations, Dilations, Ratios/Proportions, Parallel Lines/Transversals, Similar Polygons
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Unit 4: Congruent Triangles: Classify Triangles, Interior, Exterior Angles, Congruence Theorems

(SSS, SAS, HL, ASA, AAS), Congruence Proofs, Isosceles Triangles, Equilateral Triangles.
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State the theorem used to prove the triangles are congruent.
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Part III: Write a formal proof.
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56.
Given: AEB bisects DEC atE
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58. In the diagram below of AAGE and AOLD, LGAE = ZL.OD and AE =OD. To prove that AAGE =
AOLD by SAS, what other information is needed?
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